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Q1. Q, R & 3IqHT &l BIeT g, a1 ag T & 9€7 g1 IT< R 3 T 3t oY &7 IRT 50 a9 g, dT R
i Q Fit g F = F7 sta< 7T 2?2

(@) 2 %

(b) 10 T

(c)3ad

CEESERRIT]

(e) TTH | FIs A5l

L1Difficulty 2

QTags Ages

QCreator Deepak Rohilla

Q2. UF HIIHIE aTq 5T & 10 FFft wia = &t i & F7=A7 < a9t g1 T <0 & 91 Tt
ST F SR ITAT FLAT g 3T T ATae TEHT T I A1 ST, THH S99 T 20 §E HT G0
o <t % warg &t &< Fha«T g7

(a) 3 forHT 9fa =eT

(b) 4 FreT e =ar

(c) 2 foreT e =rar

(d) 5 ForHT wfer =rar

(e) 6 Tt iy =rar

L1Difficulty 2

QTags Boat And Stream
QCreator Deepak Rohilla

Q3. T¢I 3R ITHT & T § Fae 26% TTHT BraT g1 7 e fFsqor ¥ 7 e & g & 91
TTaeTg FX9 & 1, 0T § o0 &7 T4 76% BT SAvav g1 Hsror i w7y g 82

L1Difficulty 2
QTags Mixture and allegation
QCreator Deepak Rohilla



Q4. =T it FHT 32% F T2 F TS, TF TRATC AT @I FT T TG FH HL AT § 1 F+AT
T G Il il gl § hact 10% SATEF AT 5. A< ggt Tid d1g 30 ForaAr AT i @uaq gt
off, AT IR T A< ATEF G ATq hIord?

(a) 42 FFerr

L1Difficulty 2
QTags Percentage
QCreator Deepak Rohilla

Q5. TF ¥ &, AT 3T LT F Iq & S & qaTq 3: 5 AT, I fUge a9 AT aqqTT aa+
T FHAT: AAT 2: 3 X 4: 5 5. TR Tq0E a9 H AT FHof daT 43000 9 &, AT T FT
AR AqT FhaeT g2

(a) 19000 =73

(b) 18000 =T

(c) 16000 =T

(d) 15500 =73

(e) 23000 =T

L1Difficulty 2

QTags Ratio And Proportion
QCreator Deepak Rohilla

Q6. TF FTATATH & 250 JTT F forT 35 AT 1 Wi 8. 5 AT F 91%, 25 =1 &7 TH 747 84
AT # e 7Y STa &3 10 A1 3 97, 25 S % TE 99 9 g e @ aw
T Tohaer o1 T STANT gITT?

(a) 18 &=

(b) 19 fa=

(c) 20 f&=

(d) 17 fa=r

(e) 16 &=

L1Difficulty 2

QTags Time And Work
QCreator Deepak Rohilla

Q7. uw fAtsra wfer ux 4 o & forg 7 wivera wiaad i 3T & stfsia ATem<or st 3584 w9 &.
AT AT 9T 4 Tiaad TTaas 6t I T A T H AT Ao e SATST Tha«T gRIT?

(a) 1054.48 =931

(b) 1044.48 =931

(c) 938 =9




(d) 1064.84 =931

(e) 1144.48 =93
L1Difficulty 2

QTags Simple Interest
QCreator Deepak Rohilla

Q8. ‘HAPPY’ s158 % Uit i fohaer fafSr=r adisp & =aafera forar 51T ahar 82
(a) 120

(b) 140

(c) 60

(d) 70

(e) 80

L1Difficulty 2

QTags Permutation And Combination

QCreator Deepak Rohilla

Q9. WH AC 30 T # 8 FfAe fasTelT it @UT AT g W< Teh oed 6 W& § 18 (e et v
QI FAT §. AC X 5o Ta1 8 AT # foraeit e fasteit &t @aq 31 I 9 10 & gfafeq
Jdd 82 (a) 1520

(b) 1620

(c) 1500

(d) 1600

(e) 1540

L1Difficulty 2

QTags Time And Work

QCreator Deepak Rohilla

Q10. U & T IATEH 5% FT ATH AT HLAT &, A ATIT 10% FT ATH ATSTd AT 5,
3T G TaoaT 15% T ATH AT HLAT §. G F [AATT ToF A4 Hiord T1e gar f&aewar
39 5313 T4 § I9QT &.

(a) 4000 =T

(b) 4500 &

(c) 5000 =73

(d) 4950 =92

(e) 4250 =92

L1Difficulty 2

QTags Profit And Loss
QCreator Deepak Rohilla

Q11. uw A2 Tfdr v uw FAfea ax & 2 o &t sfar & srfSia aramor s sik g iy s
(T & § GATr) FH: 900 T 3T 954 T . WL AT hiford?

(a) 3700 =T

(b) 3650 =



(c) 3850 =I¥

(d) 3750 =7

(e) 3570 &7
L1Difficulty 2

QTags Simple Interest
QCreator Deepak Rohilla

Q12. T#H 2602 T T T AT X 3T Y F i+ & 30 TR v Frarsmar g & 7 ad =
X &t Tfer, 9 5 a12 Y it TiLr F are< & ATt §, 4% I a6 v a2 F oS ety s
s fifc?

(a) 1352 =77, 1250 =4

(b) 1400 =9, 1350 &4

(c) 1415 &9, 1300 =TF

(d) 1500 =7, 1450 =77

(e) 378 & S 7L

L1Difficulty 2

QTags Simple Interest
QCreator Deepak Rohilla

Q13. X SfiT Y wHeT: 900 {700 9 it TTEY F AT T ATHAGTA § TALM FLA §. TG I F
¥ TorT AT it e’ TUTLT T FATT T T ST AT I HT (99 {397 % ST % T H f@asrora
T B AKX ATY ¥ 47 I AT T gId 3. ar X 3R Y T AT o1 a1 Thar g2

(a) 376 =T

(b) 652 =1

(c) 752 =9

(d) 954 =7

(e) 854 =T

L1Difficulty 2

QTags Partnership
QCreator Deepak Rohilla

Q14. S{IUSIT ATNT & FUIT § & JT AUIT T AT STTAT §. AT AU 3 TG g1 T TTAHAT AT .
(a) 2/65

(b) 3/65

(c) 1/65

(d) 3/5

(e) 0.2

L1Difficulty 2

QTags Probability

QCreator Deepak Rohilla



Q15. 3T&TT TF FTA HLAT € AT & 3M< 15 AT 7% 1 F:d §C 36% F1F I FLAT 8. Fd
T FIA & (T, T AT DI ATHT AT 5 SN ag Toh A1 FlF e gC 20 oot 9 wf v
LA B AT A HITAHT T HIAEHAT T ATATT (haeT 57

(@)7:5

(b)4:3

(€)5:3

(d)1:3

(e)3:1

L1Difficulty 2

QTags Time And Work

QCreator Deepak Rohilla

Solutions

S1. Ans.(d)

Sol.

wR=Q=Q=T
R+T

2
=2Q=R+T..[i)
and,
R+ T=50
~Q=25
From here, we can't find the age of
R. So, we can't determine the answer.

S2. Ans.(a)
Sol.

Let rate of flow of river =s km/h
o BE o B e

S nie Ve
= 91(10+ 5+ 10— s) = 20(100 — 57)

=5°=9
=s5=3km/h

S3. Ans.(b)
Sol.
Let quantity of mixture was 100x liters
[nitial quantity of milk in the mixture
= 74x liters
ATQ,
TAx — =X 7+ 7 = 2= X 100x
100 100
=x =091
~ Quantity of mixture = 91 liter



S4. Ans.(c)
Sol.

Let per kg price of Sugar initially was Rs. 100.
Then, total expenditure in a month was

100 = 30 =3000

After increase in price,

x X 132 = =2 X 3000, where x =

new monthly consumption of family

=>x=25kg

S57. Ans.(b)
Sol.
Ratio between salaries of Mahesh and

Suresh one year ago
M, 3

iLee—==

5. 5
also, ratio of Mahesh last year & present
year salaries

3
ML_E EXE

T bkl

Mp 3 3><§

2
and, ratio of Suresh last year & present

year salaries

I

bd| O |

5
S. 4 44Xz 5
he—=—=—— =5z ..(ii)
Se 5 45 25
4 4

From eqn i and ii,

18
25

their present salary ratio =

-P|UN.1|L\.'II e

~ 18x + 25x = 43000

= x = 1000

So, required present salary of Mahesh
=18 = 1000 = Rs. 18000

S6. Ans.(b)
Sol.



Let the remaining provisions lasted for x days.
Then,

250X 35=250X 5+ 275X 10+ 250 X x

= 350=50+110 + 10x

= x = 19 days.

S7. Ans. (b)
Sol.
_ 51 x 100 B 3584 x 100
B Time ® Rate B 4 =7
=Hs. 12800

ci=p[(1+ 2) 1]

= 12800 [(1 £ ;70]2 - 1]

Z
= 12800 [(g) = 1]
_ 676 _
= 12399(5:5. 1)
= 12800 x % = Rs.1044.48

S8. Ans.(c)
Sol.
HAPPY

There are 5 letters.

And number of words formed = 2—:

ExX4x3Ix2x1 120
2x1 2

S9.Ans.(a)

Sol. Per hour consumption for AC = 16 units

total consumption of Both Ac and Bulb for 8 days (10 hours a day)
= (8x10)(16+3) =1520 units

S10.Ans.(a)
Sol.
Let the manufacturing price is MP
MP x T2 % 220 2% — 5313
100 100 100
MP = 4000
S11. Ans.(d)

Sol.



Let sum = Rs. P and rate = R% per annum

. PR?
& —— =954 - 900
100

PR .

1002 M__®
2PR

And— = 900 (ii)
100

Solving (i} and (ii], we get
R=12%
. p — S4x10000
144
=Rs. 3750

S12. Ans.(a)
Sol.

Let X get x rupee and Y gets y rupee
ATQ,

(14) =y (1+55)
ool .0

625
Andx +y = 2602 (ii)
Solving (i) and (ii] we get

v =Rs. 1250 and x = 1352 rupee

=

S13. Ans.(c)
Sol.
Ratio of investmentof xand yis 9: 7

Total profit = K

i E_ A = 47
16 2 16x2
ZE=47 =16 =2
K=Rs. 752

S14. Ans.(a)
Sol.

Total vowels in English alphabet
=5(AE L0 U)

: ag s ECZ
~ Required probability =
c
_ 5x4 :
"~ 26x25
= 2/65
S15. Ans.(e)

Sol.



Akshay : 15 days — 36% of the work

~ 20 days — 48% of the work

Total workdone by Akshay = 4804 + 36% = 849

Which means Monika did only 16% of the work in

20 days while comparing the working efficiency
Alkshay Monika

In 20 days, 48% 1694

-~ Efficiency 3 : 1



